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Creativity Development Obstacles between Reality and Hope for Students of the Department 
of Art Education at the Faculty of Education, Albaha University 
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Abstract 
 Educational institutions suffer from a real crisis that may lead to real disaster if they continue to waste the energies of their creative and 

talented students, through concentrating on using traditional teaching methodologies relaying on students direct indoctrination and showing 
no initiative to remove obstacles that prevent the investment of these energies.  And so during this study the researcher investigated the 
obstacles impede the development of creativity for students of the Department of Art Education at Faculty of Education, Albaha University 
from students’ point of view, A Quadruple rating scale based on LIKERT scale was designed in a poll questionnaire for the opinions of the 
male and female students of the Department of Art Education at the Faculty of Education, Albaha University, concerning the obstacles of 
developing creativity. Where the questionnaire includes four main dimensions, the first related to faculty members, the second to the 
educational environment, the third to the curriculum, and finally the fourth dimension related to students themselves, After verifying the 
scientific transactions of the questionnaire by counting the honesty utilizing the sincerity of the arbitrators, the validity of the internal 
construction of the questionnaire and the stability using the mid-term retail coefficient of SPIERMAN BROWN and ALPHA CRONBACH. 
The questionnaire was applied to an intentionally selected sample of students from the Department of Art Education at the Faculty of 
Education, Albaha University. After collecting and manipulating the data statistically, the obstacles of creativity facing the sample of the 
study were conducted and presented in descending order involving (students, faculty member, educational environment and curriculum). The 
study results indicated that male and female students of the sample under consideration have significantly agreed on the same reality of 
creativity obstacles impeding them. And so the researcher recommends the encouragement of creativity and urging its practice through 
secure educational programs specifically prepared for this purpose at all teaching levels. 

Keywords: Creativity Development Obstacles, Art Education               
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